
MHT CET 2nd Oct Shift 1 Memory-Based Questions – Chemistry 

 
 

There were two questions on 

Stoichiometry 

chemicals were given and it was asked on adding Lucas 

reagent which of them will give instant precipitate? 

2SO2+2NO2 - 2SO3+2NO 
2NO + O2 - 2NO2 

Answer: NO is the 
Intermediate 

Anisole Reacts with hi to give? 
Answer:   

Cresol Structure There was a question on the Molarity of Urea Solution 

Higher alkanes from Wurtz 

Reaction 

Which Halogen has the highest value of Electron Enthalpy? 

- Ans - Cl (Chlorine) 

What is the Conductivity Unit? 

- Ans - ohm-1 

The Conversion of Ethyl Bromide using Sodium and dry Istotie. 

What is this reaction? Ans - Finkelstein 


